Sk

g
Tl
>

1. ¥¥4
B4 A6 FEE )\ VERFBEIENIERE (202) ¥K
JBA T IR B TS AT N

2. EBEAR
JRIEBLEHET TS

1) FEF4
2) BT 294 H H 4&fn 74 34 8H
= S THE12H26H

3) wHwyI
AREEFIT, (219 BADSFEIA T, L LTI B AT mE2195 -

WGERHR LT 2 & 22 B OG- lTICUE R MEREZTT O B Th D

o

4) FEHBNA
B TRRCAARGE ) RO TEERIRR) 0 LBb

E+sZi@E SN



PR NER =

Tl
P

¥4 | 6K \VEMEGTEANERE (202) ¥ ¥ HYE A
HH — A
THHE - THE - R BT B & 4 AR ER
— AR = 1 8, 753, 562
B AT 2y 1 6, 543, 768
R — 1 > 7 2y 1 4,466,000 | HER—V 7 (A —naTR=1
) 10 m
KEPEL « L b, BOmEL T, $AEL T, &
66mm
HER—Y o7 = aTR=Y
) 10 m

b - WYE L, 50mPA T, $RIE T, ¢ 66mm

+ER—V 7 (A —va7R—V

) 10 m
R TV 00, 50mEL T, $RIEL T /7, ¢ 66
mm

+ER—V 7 (A —ar7R—V

) 30 m
FEARLC Y L0, 50nbh T, $8E T F, ¢
66mm

AR — ) T (A= a T AR—

) 50 m
#1575, 50mEA T, $AEL T4, ¢ 66mm

Yo LT 4 o7 ROV E R 2 1 1,700,800 | FRYEE AR
10 [e]
(i
TEHEE AR
10 [e]
W WHT
PRAEE AR
10 I
HaR T Y 4
SIS

o ELASEE TN



==
=]

m
2
gﬁ,

¥4 | 6K \VEMEGTEANERE (202) ¥ ¥ HYE A
HH — A
THHE - THE - R BT ¥ & 4 OB RR
30 [
FHIRCY 0
REAE AR
50 B
[iCs)
B RAT 2V 1 225,968 | fEATEIA
1 K
Ty AT 2 1 131,000 | FEFRCRALIEREE
1 K
MoE % 2y 1 20,000 | BEHE%
10 i
BiEEE g X 1 2,209, 794
TR X 1 307,120 | dEMEE
1 X
Sr— 2, 1 570,900 | efjii & WA AF 1
1 X
FAATFLEAZE
1 X
FRAKE (R 7 1ElR)
1 =
e = 1 1,146,500 | EIGR%E
1 =
TiRE A = 1 139,608 | Jik# (FF+L - H0EME)
1 =
Jite T/ By = 1 45,666 | fii TEHE
1 =
B AT, + A A v 1 8, 753, 562
il = 1 5,916, 438
AR F 1 5,916, 438

-2 - E+sZi@E SN



i

I
St

il

\
Y/

%lljll
I

ERA | DR6FE JRIERLE

PFrENHERRE (20 2) 3%

THH - T - fER] & %A
— R = 14, 670, 000
fEpT A 2y 788, 496
(R 2 =X 788, 496
AT AT 2y 788,496 | fEATSE A
1 =X
EiS T 52V 299, 600
3@ = 299, 600
reus = 299, 600 | ¥TatE
1 M
B (Z Ot mER <) = 1, 088, 096
Z DA = 585, 939
— R R A = 895, 965
NS S = 2,570, 000
FRATSES R = 17, 240, 000
-3 - E A28 SUNHT R



